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20
2 <
18 3)
L,
18 4)
10,3 _13
15715 ~ 15 5)
16 _15 _ 1
40 40 ~ 40 6)
5,12 _17
20 '20 20 7
17,2 51,40 _ 91 o 431
20 "37 60760 60 ° 60 i
40 .24 |
N 2838
27 20
8 %535
24 . 84
9 %%
10) (600) x (60) = (36,000) 10) 3,572
558 x 62 = 34,596
11) (400) x (80) = (32,000) 108 Tty 3,695
407 x 83 = 33,781 y 12,5 _12:5_12 52 Don't forget that the last step in 12) 36,159
12) (300) x (10) = (3,000) 20 20 1 5 5 these problems is optional for now. 13) done
349 x 12 = 4,188 .
p) 18,4 _18+4_18 o 42 14) (500) + (50) = (10)
2 24724771 4 4
13) 182 15) (600) + (30) = (20)
5 3.4 _38:4_3
14) 157 12 712 1 4 16) 1x2-35
3 1615 _16+15 _ 1 1 il
15) 592 16 .15 _16+15 _16 . 4L
5 Y 2t 15 s 17y A.1_12.6 _12:6_,
3,1_3 ; 63 18 18 1
10 fxg=g " 5 5,16 _5:16_5
20 20 1 16 18y dsd=B.o2.. 8 n
17) S-l12. 8 7 mie 26 12 12 12 S
5 3 15 15 15 ¢ S.l-fi.d..gl2d. 4 =1
I 478 32 32 1 5
18) 5)(5:—, 1/60f12=2 7) _9_+l=9_+_1=9 %
19) 13+19+26=58" 1010 _.n
1 _52+1 <k
20) 1/20f30 =15 8) %*TT o5 .
O




9)

10)
11)
12)
13)
14)
15)
16)

17)
18)
19)

20)
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(700) + (70) = (10)
(900) + (20) = (40 or 45)
50 +2=25;25x 1= $25

6,7 _13
42722 " w2

6 _5_1
1515 15
24,4 244 ¢
32732 1
1,3_3
2%4"gcP

AIQ 5|°° m'
—
o

X
I~ 3k~

Rl &~

X
-k
N

X
A=

Nja oo Opa N
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560
12,376
15,990

(600) + (40) = (15)
(400) + (80) = (5)
(400) + (10) = (40)

11A

1)
2)

5)
6)
7)
8)
9)
10)
11)
12)
13)
14)
15)
16)
17)
18)
19)
20)

21)

done

1x10
2x5
1,2,5,10

1x18
2x9
3x6
1,2,3,6,9, 18

yes
no
no
no
yes
yes
yes
yes
no
yes
no
yes
yes
yes
no
done

1.3,5.15
1,2.5.10
GCF=5
1,2.3.6
1,236,918
GCF=6

1B
1)

2)

10)
11)

12)

13)

14)

1x9
3x3
1,3,9

1x4
2x2
1,2,4

1x14
2x7
1,2,7,14

yes
yes
no
yes
no
no
done

1x28
2x14
4x7

1,2,4,7,14,28

1,39
1,3515
GCF=3

1,2,5 10
1,525
GCF=5
1,2,3,6
1,2,3,4,6,12
GCF=6

11C

1)

2)

3)

11)

12)

13)

14)

15)

1x8

2x4
1,2,4,8
1x20
2x10
4x5
1,2,4,5,10,20
1x22
2x11
1,2,11,22
no

no

yes

yes

no

no

1x42

2x21

3x14

6x7

1,2,3,6,7,14, 21,42
1x34

2x17

1,2,17,34

1x50

2x25

5x10

1,2, 5,10, 25, 50
1,2,4,8
1,2,3,4,6,8,12, 16, 24, 48
GCF=8

1,8,5,15

1,5,7,35

GCF =5

—
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1,2,3,6,9,18
GCF=9
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Unit Tent |

1)
?)
9
4)
5)
6)

7)

12)

13)
14)

15)
16)
17)

18)

BelsddxBsll
10+6w22x8=0
P44+ 4mB,6x3m18
16+48=5;6x1=5
254+5=55x4=20
14+7=2;2x5=10

30,8 _38
80 80 80
38 2_190+160_350

— e —

80 ' 5 400 400 400

0 § og-—ag-lg--ag-
final stop optional
) 16+ 17 +28 =61'
) 46+ 28 +46 + 23 = 138 yds
22) 52 +52 + 52 +52 = 208"
) 90
24) 50
25) 600
26) 500

~N
g

o
~
olw wjn 9w

27)

28)

—_

29) 3

30) 1,206
31) 884
32) 4928
a3) 2,1.86.,5 _1

34) 15,12 o §>—§-

Drumore received more.
15_12_3

18 18 18
35) 10+ 11+10+11=42
1/7 of 42 = 6'

Toni b

)
2
3

a B
= = =

e

10)
11)
12)
13)
14)

15)

16)
17)
18)

19)

20)

e
0/20
2128
6/35
3/30
212

12, 11_23
44 44 44

24 5 _19

3,14 _17
21 21 21
ﬂ.+.1_=_3—4;+_2_1_—ﬁ. or 111

21 2 42 42 42 42

16 _15

24~ 04

36 _36

48~ 48

45 42

54~ 54
(600) x (50) = (30,000)
612 x 54 = 33,048
(100) x (40) = (4,000)
124 x 36 = 4,464
(1000) x (10) = (10,000)
957 x 13 = 12,441

375 1571515
10+ 12 + 12 = 341,
3,1_3

8 271

3/8 of 48:

48 + 8 = 6; 6 x 3 = 18 had burgers
3/16 of 48:

48 + 16 = 3; 3 x 3 = 9 had mustard
48 x $15 = $720

4)

5)

6)

12)

13)
14)
15)

16)
17)

18)

19)
20)
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